
EC 367 4 6 5



4 6 6 EC367



io 3. % wdYnl4  f).

1”Yl

0

1

2

3

4

5

-

s

15, uoc

10,000

-

lU,OOO

lU,UOU

Discount factor

i = 10%

1.000

0.909

0.826

O.YSl

0.653

0.621

WL=&S%JtiG

dw?9

-15,000

10,000

10,uoo

lU,OOO

-15,000

9,090

7,510

6,210

7,810

EC367 4 6 7



waRaUunu  D F filil3~iiUfl~J9

iii

$nTi (i=lZ%) wcmmtm

1 -100 0.893 -89.30

2 120 0.797 95.64

3 - -

6.34

DF

(i=lZ%)

0.847

0.718

4
n i = 12% iI NPV = 6.34 hAulTI

dl IRIt  hAarulnucla~m,

DF

:i=lZ%)

0.694

1.46

NPV,
IRR = DFL t (DFu - DFL) x --+fv-NPVL u

DF = 18% , DF = 20%I. "
WVI. = 1.46 , NPV = -0.02u

-83.3

83.28

IRR = 18 t (2 x +$ ) = 19.97%

4 6 8 EC367



1 -luu -893

2 U -797

3 135 .'712

-89.3 0.847

0 0.718

96.12 0 . 6 0 9

dl NPV I& i = 12% =  6 . 8 2  huml

-84.7

0

82.215

-2.485

NPV
IW = DF +(DF -DF')x L

I.. " I. NPVL - NPV
U

EC367 4 6 9



B

-

60

6 0

6 0

6 0

6 0

-

-

cc DD &w161nu1nu&w161nu1nu A. BA. B CC DD

-50-50 -100-100 1 . 4 6 41 . 4 6 4 2 9 . 2 82 9 . 2 8 8 7 . 8 48 7 . 8 4 - 7 3 . 2 0- 7 3 . 2 0 - 1 4 6 . 4- 1 4 6 . 4

- 5 0- 5 0 00 1 . 3 3 11 . 3 3 1 5 3 . 2 45 3 . 2 4 3 9 . 8 63 9 . 8 6 - 6 6 . 5 5- 6 6 . 5 5 --

- 5 0- 5 0 00 1.2101.210 7 2 . 6 07 2 . 6 0 7 2 . 6 07 2 . 6 0 - 6 0 . 5 0- 6 0 . 5 0 --

- 5 0- 5 0 100100 1.1001.100 8 8 . 0 08 8 . 0 0 6 6 . 0 06 6 . 0 0 - 5 5 . 0 0- 5 5 . 0 0 110110

220220 100100 1.0001.000 lUO.00lUO.UO 6 0 . 0 060.00 2 2 0 . 0 0220.00 100100

3 4 3 . 1 23 4 3 . 1 2 3 6 6 . 33 6 6 . 3 - 3 5 . 2 5- 3 5 . 2 5 6 3 . 66 3 . 6

4 7 0 EC367



iI4 Tnmnla

A

0 20

1 40

2 60

3 80

4 100

D

100

0

0

100

100

T Discount factor

i = 10%

1

0.909

0.826

0.751

0.683

D

-100

75.1

68.3

234.30 43.4

EC367



4 7 2 EC 367



00 1010 2020

11 33 11 55 11

22 33 11 55 11

33 33 11 55 11

44 33 11 55 11

55 33 11 55 11

66 33 11 55 11

77 33 11 55 11

88 33 11 55 11

&J&A  N-K ratio = 5.971 = 0.199
30

EC367 473



10 500

> 2 > 250 21250 = .008

12 750

> 3 > 750 31750 = -004

15 1500

> 5 > 500 5/500 = .Ol

20 2000

> IO > 1000 10/1000 = .Ol

30 3000

4 7 4 EC367



k~ 8. n.

row

maximax

maxima

10 10

8

Tm9ni5  n. Tbil  mean expected value = (10 x .7) + (-2 x .3)

= 7 - 0.6 = 6.4 iiwin

EC367 4 7 5



%WJnl5  8.  'L&h  mean expected value =(8 x -7)  + (5 x -3)

= 5.6 t 1.5 = 7.1 hain

k& di Nm mJ~fmni7 n. = 6.1 x e.710 - 2 0 = 20.931 &Wtln

dl MJV uaJh7Jnl~ PI. = 7.1 x 6.710 - 5 = 42.641 iluuln

4 7 6 EC367


